
EE 3025 S2005 Homework Set #3
(due 10:10 AM Friday, February 11, 2005)

Directions: Work all 5 problems. We will grade Problem 1 and will randomly choose two
of the other problems for grading.

1. Consider the relay circuit in the following diagram:

1 2

A B C

E

G HF

D

Relay switches A;B;C;D;E; F;G;H operate independently; each of them has the
same probability p of working correctly. Let P (1 ! 2) denote the probability that
a connection will be made from point 1 to point 2. Obviously, P (1 ! 2) will be
a complicated function of p. In this problem, you are not going to �nd the explicit
formula for P (1! 2) as a function of p. Instead, you will be using Matlab simulations
of the circuit to obtain estimates of P (1! 2) for various p values. Before starting on
this Matlab problem, you might want to study Experiment 3 of Recitation 2.

(a) Use Matlab to do 50000 simulated trials of the circuit with p = 0:90. Estimate
P (1 ! 2) based on these trials. You should run your 50000 trials more than
once to see if your estimate is \robust" (that is, hopefully your estimate will not
change very much).

(b) By trial and error, do 50000 simulated trials over and over again with di�erent
values of p on each run of 50000, until you �nd a value of p for which the estimate
for P (1! 2) is as close to 0:85 as you can get.

2. This problem, as part of its solution, will involve the binomial distribution in some way.

(a) Flip 10 fair dies. Compute the probability that at least 7 of the dies yield a number
� 5.

(b) Select 10 light bulbs and let each of them burn until they burn out. Each light bulb
has a lifetime which is exponentially distributed with mean lifetime 1000 hours.
Compute the probability that between 3 and 6 of the light bulbs (inclusively)
burn for at least 1200 hours.



3. Dropout is a kind of defect in magnetic tape in which the signal disappears for a brief
period of time. We assume that the number of dropouts in a �xed length of tape is a
Poisson random variable.

(a) Suppose the number of dropouts in an 1800ft length of tape is a Poisson RV with
parameter 3. What is the probability of 3 or more dropouts in this length of tape?
What is the conditional probability of 3 or more dropouts given that there is at
least one dropout?

(b) Suppose again that the number of dropouts in an 1800ft length of tape is a Poisson
RV with parameter 3. Let random variable X be the number of dropouts in a
3600ft of tape. X is a Poisson random variable. What is the parameter? Compute
the probability that X � 6.

4. A mixed random variable X has probability density function

fX(x) = (1=6)Æ(x� 5)+ (1=6)Æ(x� 10)+ (1=6)Æ(x� 15)+
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de�ned for all real x.

(a) Attach a Matlab plot of the cumulative distribution function FX(x) over the range
0 � x � 40.

(b) Compute P (7:5 � X � 30).

(c) Given that X is between 7.5 and 30, compute the conditional probability that
X � 12:5.

5. This problem regards the computations of means and variances of random variables.

(a) A discrete RV X takes the values 1; 2; 3; 4; 5 and its PMF takes the form

pX(x) = Cx2; x = 1; 2; 3; 4; 5;

where C is a positive constant. Compute C, and then compute the mean and
variance of X.

(b) Now we take X to be a continuous RV with PDF of the form

fX(x) = Cx2; 1 � x � 5 (zero elsewhere);

where C is a positive constant. Compute C, and then compute the mean and
variance of X.

Supplementary Problems: (not to hand in) From the textbook, you can try Problems
2.3.2, 2.3.4, 2.4.1, 3.3.6(a)(b), 3.5.1


